
In vigore dal - Effective from    15-12-202118

PEDALI IN ACCIAIO CROMATO
CHROME-PLATED PEDALS

O

O

J

J

N

H

H

K

K

K

K

Q

Q

Q

G

G

P
R

R

I IJ
J

O

O

Q

I

I

J

J

O

O

R

R

N

L

M

Q

Q

R

R

G
G

OK-KZ-CADETTI

MINI

NEOS

A

C

D

E

F

B

Tav. 08



Rif. Cod. CHROMIUM-PLATED PEDALS ￥

08 Description Tax  included
A 0014.AB ｱｸｾﾙﾍﾟﾀﾞﾙ NEOS Accelerator pedal for Neos - Rookie EV 15,620
B 0015.BB ﾌﾞﾚｰｷﾍﾟﾀﾞﾙ NEOS Brake pedal for Neos - Rookie EV 15,730
C 0014.AA ｱｸｾﾙﾍﾟﾀﾞﾙ ROOKIE Accelerator pedal for Mini Rookie - Nordix 14,410
D 0015.BA ﾌﾞﾚｰｷﾍﾟﾀﾞﾙ ROOKIE Brake pedal for Mini Rookie - Nordix 15,730
E 0014.00 ｱｸｾﾙﾍﾟﾀﾞﾙOK Chrome-plated accelerator pedal 15,620
F 0015.00 ﾌﾞﾚｰｷﾍﾟﾀﾞﾙOK Chrome-plated hydraulic brake pedal 16,390
G 0017.B0 ﾍﾟﾀﾞﾙｽｸﾘｭｰ/SHORT NEOS/ROOKIE EV/OK Pedal screw Neos - Rookie EV 2,970
H 0017.A0 ﾍﾟﾀﾞﾙｽｸﾘｭｰ/LONG ROOKIE/OLD Rookie pedal screw 2,970
I R.P.8X12 ﾜｯｼｬｰ D.8X12 Washer Ø 8x12x2 mm 11
J D.M8A.A. ﾅｲﾛﾝﾅｯﾄ M8 A.A. nut M8 33
K 0016.00 ﾍﾟﾀﾞﾙﾘﾀｰﾝｽﾌﾟﾘﾝｸﾞ Return pedal spring Rookie - Micro 539
L 0016.FAA ｱｸｾﾙﾘﾀｰﾝｽﾌﾟﾘﾝｸﾞ Neos/EV Accelerator pedal spring Mini Neos 3,300
M 0016.FBA ﾌﾞﾚｰｷﾘﾀｰﾝｽﾌﾟﾘﾝｸﾞ Neos/EV Brake pedal spring Mini Neos 3,300
N 0017.001 ﾍﾟﾀﾞﾙｽｸﾘｭｰ/ｽﾃｱﾘﾝｸﾞｼｬﾌﾄｽﾍﾟｰｻｰ D.8mm Pedal screw spacer 1,089
O 0116.B8 ﾍﾟﾀﾞﾙﾋﾟﾝｸﾘｯﾌﾟ Circle spring 385
P 0121.00  Tappo pedale Ø 12 mm Rosso Pedal plug Ø 12 mm Red 0
P 0121.00N  Tappo pedale Ø 12 mm Nero Pedal plug Ø 12 mm Black 0
Q V.TCE6X30 ｷｬｯﾌﾟﾎﾞﾙﾄ 6X30 TCEI screw 6x30 mm 44
R D.M6A.A.  Dado M6 A.A. A.A. nut M6 0


